**RESEARCH ARTICLE** 



# Probabilistic Degenerate Fubini Polynomials Associated with Random Variables

Rongrong Xu<sup>1</sup> · Taekyun Kim<sup>1,2</sup> · Dae San Kim<sup>3</sup> · Yuankui Ma<sup>1</sup>

Received: 4 January 2024 / Accepted: 22 June 2024 © The Author(s) 2024

### Abstract

Let *Y* be a random variable such that the moment generating function of *Y* exists in a neighborhood of the origin. The aim of this paper is to study probabilistic versions of the degenerate Fubini polynomials and the degenerate Fubini polynomials of order *r*, namely the probabilistic degenerate Fubini polynomials associated with *Y* and the probabilistic degenerate Fubini polynomials of order *r* associated with *Y*. We derive some properties, explicit expressions, certain identities and recurrence relations for those polynomials. As special cases of *Y*, we treat the gamma random variable with parameters  $\alpha$ ,  $\beta > 0$ , the Poisson random variable with parameter  $\alpha > 0$ , and the Bernoulli random variable with probability of success *p*.

**Keywords** Probabilistic degenerate Fubini polynomials  $\cdot$  Probabilistic degenerate Fubini polynomials of order  $r \cdot$  Probabilistic degenerate Stirling numbers of the second kind

Mathematics Subject Classification 11B73 · 11B83

⊠ Taekyun Kim tkkim@kw.ac.kr

- Dae San Kim dskim@sogang.ac.kr
- ☑ Yuankui Ma mayuankui@xatu.edu.cn

Rongrong Xu xurongrong0716@163.com

- <sup>1</sup> School of Science, Xi'an Technological University, Xi'an 710021, Shaanxi, China
- <sup>2</sup> Department of Mathematics, Kwangwoon University, Seoul 01897, Republic of Korea
- <sup>3</sup> Department of Mathematics, Sogang University, Seoul 121-742, Republic of Korea

### 1 Introduction

In recent years, degenerate versions,  $\lambda$ -analogues and probabilistic versions of many special polynomials and numbers have been investigated by employing various methods such as generating functions, combinatorial methods, umbral calculus, *p*-adic analysis, differential equations, probability, special functions, analytic number theory and operator theory (see [11–16, 18–21] and the references therein).

Let *Y* be a random variable satisfying the moment condition (see 20). The aim of this paper is to study probabilistic versions of the degenerate Fubini polynomials and the degenerate Fubini polynomials of order *r*, namely the probabilistic degenerate Fubini polynomials associated with *Y* and the probabilistic degenerate Fubini polynomials of order *r* associated with *Y*. We derive some properties, explicit expressions, certain identities and recurrence relations for those polynomials and numbers. In addition, we consider the special cases that *Y* is the gamma random variable with parameters  $\alpha, \beta > 0$ , the Poisson random variable with probability of success *p*.

The outline of this paper is as follows. In Sect. 1, we recall the degenerate exponentials, the degenerate Stirling numbers of the second kind  $\left\{ \begin{array}{c} n \\ k \end{array} \right\}$ , the degenerate Bell polynomials, the degenerate Fubini polynomials and the degenerate Fubini polynomials of order r. We remind the reader of Lah numbers and the partial Bell polynomials. Assume that Y is a random variable such that the moment generating function of Y,  $E[e^{tY}] = \sum_{n=0}^{\infty} \frac{t^n}{n!} E[Y^n],$ (|t| < r), exists for some r > 0. Let  $(Y_i)_{i \ge 1}$  be a sequence of mutually independent copies of the random variable Y, and let  $S_k = Y_1 + Y_2 + \dots + Y_k$ ,  $(k \ge 1)$ , with  $S_0 = 0$ . Then we recall the probabilistic degenerate Stirling numbers of the second kind associated with Y and the probabilistic degenerate Bell polynomials associated with Y,  $\phi_{n,i}^{Y}(x)$ . Also, we remind the reader of the gamma random variable with parameters  $\alpha, \beta > 0$ . Section 2 is the main result of this paper. Let  $(Y_i)_{i \ge 1}$ ,  $S_k$ , (k = 0, 1, ...)be as in the above. Then we first define the probabilistic degenerate Fubini polynomials associated with the random variable Y,  $F_{n,\lambda}^Y(x)$ . We derive for  $F_{n,\lambda}^Y(x)$  and explicit expression in Theorem 1 and an expression as an infinite sum involving  $E[(S_k)_{n,\lambda}]$  in Theorem 2. In Theorem 3, when  $Y \sim \Gamma(1,1)$ , we find an expression for  $F_{n,\lambda}^Y(x)$  in terms of Lah numbers and Stirling numbers of the first kind. We obtain a representation of  $F_{n,\lambda}^Y(x)$  as an integral over  $(0,\infty)$  of the integrand involving  $\phi_{n,\lambda}^Y(x)$  in Theorem 4 and its generalization in Theorem 14. In Theorem rem 5, we express the probabilistic degenerate Fubini numbers associated with Y,  $F_{n,\lambda}^Y = F_{n,\lambda}^Y(1)$ , as a finite sum involving the partial Bell polynomials. Then we introduce the probabilistic degenerate Fubini polynomials of order r associated with Y and deduce an explicit expression for them in Theorem 6. We obtain a recurrence relation for  $F_{n,\lambda}^{Y}(x)$  in Theorem 7, and another one in Theorem 8 together with its generalization in Theorem 15. In Theorem 9, the rth derivative

of  $F_{n,\lambda}^{Y}(x)$  is expressed in terms of  $F_{i,\lambda}^{(r+1,Y)}(x)$ . We get the identity  $\frac{1}{1-x}F_{n,\lambda}^{Y}(\frac{x}{1-x}) = \sum_{i=0}^{\infty} E[(S_i)_{n,\lambda}]x^i$  in Theorem 10 and its generalization in Theorem 13. In Theorem 11, when Y is the Poisson random variable with parameter  $\alpha$ , we express  $F_{n,\lambda}^{Y}(x)$  in terms of the Fubini polynomials  $F_i(x)$  and  $\begin{cases} n \\ i \end{cases}$ . In Theorem 12, when Y is the Poisson random variable with parameter  $\alpha$ , we show  $\frac{1}{1-x}F_{n,\lambda}^{Y}(\frac{x}{1-x}) = \sum_{k=0}^{\infty} \phi_{n,\lambda}(k\alpha)x^k$ . Finally, we show in Theorem 16 that  $F_{n,\lambda}^{Y}(x) = F_{n,\lambda}(xp)$  if Y is the Bernoulli random variable with probability of success p. For the rest of this section, we recall the facts that are needed throughout this paper.

For any  $\lambda \in \mathbb{R}$ , the degenerate exponentials are defined by (see [6–21])

$$e_{\lambda}^{x}(t) = (1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{k=0}^{\infty} (x)_{k,\lambda} \frac{t^{k}}{k!}, \quad e_{\lambda}(t) = e_{\lambda}^{1}(t),$$
 (1)

where

$$(x)_{0,\lambda} = 1, \quad (x)_{n,\lambda} = x(x-\lambda)\cdots\left(x-(n-1)\lambda\right), \quad (n \ge 1).$$
(2)

Note that

$$\lim_{\lambda \to 0} e_{\lambda}^{x}(t) = e^{xt}$$

The Stirling numbers of the first kind are defined by (see [1-3, 5, 24])

$$(x)_n = \sum_{k=0}^n S_1(n,k) x^k, \quad (n \ge 0),$$
 (3)

where

$$(x)_0 = 1, \quad (x)_n = x(x-1)\cdots(x-n+1), \quad (n \ge 1).$$

Alternatively, they are given by (see [5-24])

$$\frac{1}{k!} \left( \log(1+t) \right)^k = \sum_{n=k}^{\infty} S_1(n,k) \frac{t^n}{n!}.$$
(4)

The Lah numbers are defined by

$$\langle x \rangle_n = \sum_{k=0}^n L(n,k)(x)_k, \quad (n \ge 0),$$
(5)

where

$$\langle x \rangle_0 = 1, \quad \langle x \rangle_n = x(x+1) \cdots (x+n-1), \quad (n \ge 1).$$

By (5), we easily get (see [5-24])

$$L(n,k) = \frac{n!}{k!} \binom{n-1}{k-1}, \quad (n \ge k \ge 0).$$
(6)

From (6), the generating function of the Lah numbers is given by

$$\frac{1}{k!} \left(\frac{t}{1-t}\right)^k = \sum_{n=k}^{\infty} L(n,k) \frac{t^n}{n!}.$$
(7)

In [13], the degenerate Stirling numbers of the second kind are defined by

$$(x)_{n,\lambda} = \sum_{k=0}^{n} \left\{ \begin{array}{c} n\\ k \end{array} \right\}_{\lambda} (x)_{k}, \quad (n \ge 0).$$
(8)

Alternatively, they are given by

$$\frac{1}{k!} \left( e_{\lambda}(t) - 1 \right)^k = \sum_{n=k}^{\infty} \left\{ \begin{array}{c} n \\ k \end{array} \right\}_{\lambda} \frac{t^n}{n!}.$$
(9)

It is well known that the degenerate Bell polynomials are defined by (see [12-14])

$$e^{x(e_{\lambda}(t)-1)} = \sum_{n=0}^{\infty} \phi_{n,\lambda}(x) \frac{t^n}{n!}.$$
 (10)

Thus, by (8) and (10), we get (see [12, 17, 21])

$$\phi_{n,\lambda}(x) = \sum_{k=0}^{n} \left\{ \begin{array}{c} n \\ k \end{array} \right\}_{\lambda} x^{k}, \quad (n \ge 0).$$
(11)

The degenerate Fubini polynomials are defined by (see [17-19, 27])

$$F_{n,\lambda}(x) = \sum_{k=0}^{n} \left\{ \begin{array}{c} n\\ k \end{array} \right\}_{\lambda} k! x^{k}, \quad (n \ge 0).$$
(12)

Thus, by (12), we get (see [4, 19, 21, 27])

$$\frac{1}{1 - x(e_{\lambda}(t) - 1)} = \sum_{n=0}^{\infty} F_{n,\lambda}(x) \frac{t^n}{n!}.$$
(13)

From (13), we note that (see [18])

$$\frac{1}{1-x}F_{n,\lambda}\left(\frac{x}{1-x}\right) = \left(x\frac{d}{dx}\right)_{n,\lambda}\frac{1}{1-x} = \sum_{k=0}^{\infty} (k)_{n,\lambda}x^k.$$
 (14)

### 🙆 Springer

For  $r \in \mathbb{N}$ , the degenerate Fubini polynomials of order (see [8, 9, 16]) *r* are defined by

$$\left(\frac{1}{1 - y(e_{\lambda}(t) - 1)}\right)^{r} = \sum_{n=0}^{\infty} F_{n,\lambda}^{(r)}(y) \frac{t^{n}}{n!}.$$
(15)

Thus, by (15), we get (see [8, 18, 19, 22, 23])

$$F_{n,\lambda}^{(r)}(\mathbf{y}) = \sum_{k=0}^{n} \binom{k+r-1}{k} \mathbf{y}^{k} \begin{Bmatrix} n \\ k \end{Bmatrix}_{\lambda} k!.$$
(16)

From (15), we have

$$\left(\frac{1}{1-x}\right)^{r+1} F_{n,\lambda}^{(r+1)}\left(\frac{x}{1-x}\right) = \left(x\frac{d}{dx}\right)_{n,\lambda} \left(\frac{1}{1-x}\right)^{r+1} = \sum_{k=0}^{\infty} \binom{k+r}{r} (k)_{n,\lambda} x^k,$$
(17)

where *n*, *r* are nonnegative integers.

For any integer  $k \ge 0$ , the partial Bell polynomials are given by (see [5])

$$\frac{1}{k!} \left(\sum_{i=1}^{\infty} x_i \frac{t^i}{i!}\right)^k = \sum_{n=k}^{\infty} B_{n,k}(x_1, x_2, \dots, x_{n-k+1}) \frac{t^n}{n!},$$
(18)

where

$$B_{n,k}(x_1, x_2, \dots, x_{n-k+1}) = \sum_{\substack{l_1 + l_2 + \dots + l_{n-k+1} = k \\ l_1 + 2l_2 + \dots + (n-k+1)l_{n-k+1} = n}} \frac{n!}{l_1 l_2 ! \cdots l_{n-k+1}!} \left(\frac{x_1}{1!}\right)^{l_1} \left(\frac{x_2}{2!}\right)^{l_2} \cdots \left(\frac{x_{n-k+1}}{(n-k+1)!}\right)^{l_{n-k+1}}.$$
(19)

Let *Y* be a random variable such that the moment generating function of Y

$$E[e^{tY}] = \sum_{n=0}^{\infty} E[Y^n] \frac{t^n}{n!}, \quad (|t| < r) \quad \text{exists for some } r > 0.$$
(20)

Assume that  $(Y_j)_{j\geq 1}$  is a sequence of mutually independent copies of Y and  $S_k = Y_1 + Y_2 + \dots + Y_k$ ,  $(k \geq 1)$  with  $S_0 = 0$ .

The probabilistic degenerate Stirling numbers of the second kind associated with random variable Y are defined by (see [15, 22])

$$\left\{ \begin{array}{l} n\\ k \end{array} \right\}_{Y,\lambda} = \frac{1}{k!} \sum_{j=0}^{k} \binom{k}{j} (-1)^{k-j} E[(S_j)_{n,\lambda}], \quad (n \ge k \ge 0).$$
 (21)

By binomial inversion, the Eq. (21) is equivalent to (see [15])

$$E[(S_k)_{n,\lambda}] = \sum_{j=0}^k \binom{k}{j} j! \begin{Bmatrix} n \\ jk \end{Bmatrix}_{Y,\lambda}.$$
 (22)

From (21), we note that (see [15])

$$\frac{1}{k!}(E[e_{\lambda}^{Y}(t)]-1)^{k} = \sum_{n=k}^{\infty} \left\{ \begin{array}{c} n\\ k \end{array} \right\}_{Y,\lambda} \frac{t^{n}}{n!}, \quad (k \ge 0).$$
(23)

In view of (11), the probabilistic degenerate Bell polynomials associated with Y are defined by (see [15, 20])

$$\phi_{n,\lambda}^{Y}(x) = \sum_{k=0}^{n} \left\{ \begin{array}{c} n\\ k \end{array} \right\}_{Y,\lambda} x^{k}, \quad (n \ge 0).$$
(24)

When Y = 1, we have  $\phi_{n,\lambda}^{Y}(x) = \phi_{n,\lambda}(x)$ . By (24) we get (see [15])

By (24), we get (see [15])

$$e^{x(E[e_{\lambda}^{Y}(t)]-1]} = \sum_{n=0}^{\infty} \phi_{n,\lambda}^{Y}(x) \frac{t^{n}}{n!}.$$
(25)

We recall that *Y* is the gamma random variable with parameter  $\alpha$ ,  $\beta > 0$  if probability density function of *Y* is given by (see [3, 25–28])

$$f(x) = \begin{cases} \frac{\beta}{\Gamma(\alpha)} e^{-\beta x} (\beta x)^{\alpha-1}, & \text{if } x \ge 0, \\ 0, & \text{if } x < 0, \end{cases}$$

which is denoted by  $Y \sim \Gamma(\alpha, \beta)$ .

Finally, if *Y* is the Poisson random variable with parameter  $\alpha$ (> 0), then the moment generating function is given by:

$$E[e^{tY}] = \sum_{n=0}^{\infty} e^{tn} \frac{\alpha^n e^{-\alpha}}{n!} = e^{\alpha(e^t-1)}.$$

# 2 Probabilistic Degenerate Fubini Polynomials Associated with Random Variables

Let  $(Y_k)_{k\geq 1}$  be a sequence of mutually independent copies of random variable *Y*, and let

$$S_0 = 0, \quad S_k = Y_1 + Y_2 + \dots + Y_k, \quad (k \in \mathbb{N}).$$

$$\frac{1}{1 - x \left( E[e_{\lambda}^{Y}(t)] - 1 \right)} = \sum_{n=0}^{\infty} F_{n,\lambda}^{Y}(x) \frac{t^{n}}{n!}.$$
(26)

For Y = 1, E[Y] = 1 and we have  $F_{n,\lambda}^Y(x) = F_{n,\lambda}(x)$ ,  $(n \ge 0)$ . When x = 1,  $F_{n,\lambda}^Y = F_{n,\lambda}^Y(1)$  are called the *probabilistic degenerate Fubini numbers associated with random variable Y*.

From (26) and (23), we note that

$$\sum_{n=0}^{\infty} F_{n,\lambda}^{Y}(x) \frac{t^{n}}{n!} = \sum_{k=0}^{\infty} x^{k} (E[e_{\lambda}^{Y}(t)] - 1)^{k} = \sum_{k=0}^{\infty} x^{k} k! \frac{1}{k!} (E[e_{\lambda}^{Y}(t)] - 1)^{k}$$
$$= \sum_{k=0}^{\infty} x^{k} k! \sum_{n=k}^{\infty} \left\{ \begin{array}{c} n \\ k \end{array} \right\}_{Y,\lambda} \frac{t^{n}}{n!} = \sum_{n=0}^{\infty} \sum_{k=0}^{n} x^{k} k! \left\{ \begin{array}{c} n \\ k \end{array} \right\}_{Y,\lambda} \frac{t^{n}}{n!}.$$
(27)

Therefore, by comparing the coefficients on both sides of (27), we obtain the following theorem.

**Theorem 1** For  $n \ge 0$ , we have

$$F_{n,\lambda}^{Y}(x) = \sum_{k=0}^{n} \left\{ \begin{array}{c} n \\ k \end{array} \right\}_{Y,\lambda} k! x^{k}.$$

By (26), we get

$$\sum_{n=0}^{\infty} F_{n,\lambda}^{Y}(x) \frac{t^{n}}{n!} = \frac{1}{1 - x(E[e_{\lambda}^{Y}(t)] - 1)} = \frac{1}{1 + x - xE[e_{\lambda}^{Y}(t)]}$$

$$= \frac{1}{1 + x} \frac{1}{1 - \frac{x}{1 + x}E[e_{\lambda}^{Y}(t)]} = \frac{1}{1 + x} \sum_{k=0}^{\infty} \left(\frac{x}{1 + x}\right)^{k} \left(E[e_{\lambda}^{Y}(t)]\right)^{k}$$

$$= \sum_{n=0}^{\infty} \frac{1}{1 + x} \sum_{k=0}^{\infty} \left(\frac{x}{1 + x}\right)^{k} E[(Y_{1} + Y_{2} + \dots + Y_{k})_{n,\lambda}] \frac{t^{n}}{n!}$$

$$= \sum_{n=0}^{\infty} \frac{1}{1 + x} \sum_{k=0}^{\infty} \left(\frac{x}{1 + x}\right)^{k} E[(S_{k})_{n,\lambda}] \frac{t^{n}}{n!}.$$
(28)

Therefore, by (28), we obtain the following theorem.

**Theorem 2** For  $n \ge 0$ , we have

$$F_{n,\lambda}^{Y}(x) = \frac{1}{1+x} \sum_{k=0}^{\infty} \left(\frac{x}{1+x}\right)^{k} E[(S_k)_{n,\lambda}].$$

In particular, for Y = 1, we have

$$F_{n,\lambda}^{Y}(x) = \frac{1}{1+x} \sum_{k=0}^{\infty} \left(\frac{x}{1+x}\right)^{k} (k)_{n,\lambda}.$$

Let  $Y \sim \Gamma(1, 1)$ . Then, by using (1), (4) and (7), we have

$$\sum_{n=0}^{\infty} F_{n,\lambda}^{Y}(x) \frac{t^{n}}{n!} = \frac{1}{1 - x(E[e_{\lambda}^{Y}(t)] - 1)} = \sum_{k=0}^{\infty} x^{k} \Big( E[e_{\lambda}^{Y}(t)] - 1 \Big)^{k} \\ = \sum_{k=0}^{\infty} x^{k} \Big( \int_{0}^{\infty} e_{\lambda}^{y}(t) e^{-y} dy - 1 \Big)^{k} = \sum_{k=0}^{\infty} x^{k} \Big( \int_{0}^{\infty} e^{y(\frac{1}{\lambda}\log(1 + \lambda t) - 1)} dy - 1 \Big)^{k} \\ = \sum_{k=0}^{\infty} k! x^{k} \frac{1}{k!} \Big( \frac{\frac{1}{\lambda}\log(1 + \lambda t)}{1 - \frac{1}{\lambda}\log(1 + \lambda t)} \Big)^{k} \\ = \sum_{k=0}^{\infty} k! x^{k} \sum_{l=k}^{\infty} L(l,k) \frac{1}{l!} \Big( \frac{1}{\lambda}\log(1 + \lambda t) \Big)^{l} \\ = \sum_{l=0}^{\infty} \sum_{k=0}^{l} k! x^{k} L(l,k) \sum_{n=l}^{\infty} \lambda^{n-l} S_{1}(n,l) \frac{t^{n}}{n!} \\ = \sum_{n=0}^{\infty} \sum_{l=0}^{n} \sum_{k=0}^{l} k! x^{k} L(l,k) \lambda^{n-l} S_{1}(n,l) \frac{t^{n}}{n!},$$
(29)

where  $S_1(n, l)$  are the Stirling numbers of the first kind. Here we should observe that, for all *t* with |t| small, we have

$$\left|\frac{1}{\lambda}\log(1+\lambda t)\right| < 1,$$

since  $|\frac{\log(1+x)}{x}|$  is bounded on  $(0, \infty)$ . Therefore, by comparing the coefficients on both sides of (29), we obtain the following theorem.

**Theorem 3** Let  $Y \sim \Gamma(1, 1)$ . Then we have

$$F_{n,\lambda}^{Y}(x) = \sum_{l=0}^{n} \sum_{k=0}^{l} k! \lambda^{n-l} L(l,k) S_{1}(n,l) x^{k}, \quad (n \ge 0).$$

Now, we observe from (24) and Theorem 1 that

$$\int_{0}^{\infty} \phi_{n,\lambda}^{Y}(xy)e^{-y}dy = \sum_{k=0}^{n} \left\{ \begin{array}{c} n\\ k \end{array} \right\}_{Y,\lambda} x^{k} \int_{0}^{\infty} y^{k}e^{-y}dy = \sum_{k=0}^{n} \left\{ \begin{array}{c} n\\ k \end{array} \right\}_{Y,\lambda} x^{k} \Gamma(k+1)$$
$$= \sum_{k=0}^{n} \left\{ \begin{array}{c} n\\ k \end{array} \right\}_{Y,\lambda} x^{k}k! = F_{n,\lambda}^{Y}(x), \quad (n \ge 0).$$
(30)

Thus, from (30), we obtain the following theorem.

**Theorem 4** For  $n \ge 0$ , we have

$$\int_0^\infty \phi_{n,\lambda}^Y(xy) e^{-y} dy = F_{n,\lambda}^Y(x).$$

From (23) and (18), we note that

$$\sum_{n=k}^{\infty} \left\{ {n \atop k} \right\}_{Y,\lambda} \frac{t^n}{n!} = \frac{1}{k!} (E[e_{\lambda}^{Y}(t)] - 1)^k = \frac{1}{k!} (\sum_{i=1}^{\infty} E[(Y)_{i,\lambda}] \frac{t^i}{i!})^k$$

$$= \sum_{n=k}^{\infty} B_{n,k} (E[(Y)_{1,\lambda}], E[(Y)_{2,\lambda}], \cdots, E[(Y)_{n-k+1,\lambda}]) \frac{t^n}{n!}.$$
(31)

Thus, by (31), we get

$$\left\{ \begin{array}{l} n \\ k \end{array} \right\}_{Y,\lambda} = B_{n,k}(E[(Y)_{1,\lambda}], E[(Y)_{2,\lambda}], \cdots, E[(Y)_{n-k+1,\lambda}]), \quad (n \ge k \ge 0).$$
(32)

Hence

$$\phi_{n,\lambda}^{Y}(y) = \sum_{k=0}^{n} \left\{ \begin{array}{c} n \\ k \end{array} \right\}_{Y,\lambda} y^{k} = \sum_{k=0}^{n} B_{n,k}(E[(Y)_{1,\lambda}], E[(Y)_{2,\lambda}], \cdots, E[(Y)_{n-k+1,\lambda}]) y^{k}.$$
(33)

By (30) and (33), we get

$$F_{n,\lambda}^{Y} = \sum_{k=0}^{n} B_{n,k} \Big( E[(Y)_{1,\lambda}], E[(Y)_{2,\lambda}], \cdots, E[(Y)_{n-k+1,\lambda}] \Big) \int_{0}^{\infty} y^{k} e^{-y} dy$$
  
$$= \sum_{k=0}^{n} k! B_{n,k} \Big( E[(Y)_{1,\lambda}], E[(Y)_{2,\lambda}], \cdots, E[(Y)_{n-k+1,\lambda}] \Big), \quad (n \ge 0).$$
 (34)

Therefore, by (34), we obtain the following theorem.

**Theorem 5** For  $n \ge 0$ , we have

$$F_{n,\lambda}^{Y} = \sum_{k=0}^{n} k! B_{n,k} \Big( E[(Y)_{1,\lambda}], E[(Y)_{2,\lambda}], \cdots, E[(Y)_{n-k+1,\lambda}] \Big).$$

For  $r \in \mathbb{N}$ , the probabilistic degenerate Fubini polynomials of order r associated with random variable Y are defined by

$$\left(\frac{1}{1 - x(E[e_{\lambda}^{Y}(t)] - 1)}\right)^{r} = \sum_{n=0}^{\infty} F_{n,\lambda}^{(r,Y)}(x) \frac{t^{n}}{n!}.$$
(35)

When Y = 1, we have  $F_{n,\lambda}^{(r,Y)}(x) = F_{n,\lambda}^{(r)}(x)$ ,  $(n \ge 0)$ , (see (13)). From (23) and (35), we note that

$$\left(\frac{1}{1-x(E[e_{\lambda}^{Y}(t)]-1)}\right)^{r} = \sum_{i=0}^{\infty} {\binom{-r}{i}} (-1)^{i} x^{i} (E[e_{\lambda}^{Y}(t)]-1)^{i} = \sum_{i=0}^{\infty} {\binom{r+i-1}{i}} i! x^{i} \frac{1}{i!} (E[e_{\lambda}^{Y}(t)]-1)^{i}$$
$$= \sum_{i=0}^{\infty} {\binom{r+i-1}{i}} i! x^{i} \sum_{n=i}^{\infty} {\binom{n}{i}} \sum_{\gamma,\lambda} \frac{t^{n}}{n!} = \sum_{n=0}^{\infty} \sum_{i=0}^{n} {\binom{r+i-1}{i}} i! x^{i} \binom{n}{i} \sum_{\gamma,\lambda} \frac{t^{n}}{n!}.$$
(36)

Therefore, by (35) and (36), we obtain the following theorem.

**Theorem 6** For  $n \ge 0$ , we have

$$F_{n,\lambda}^{(r,Y)}(x) = \sum_{i=0}^{n} \binom{r+i-1}{i} i! \begin{Bmatrix} n \\ i \end{Bmatrix}_{Y,\lambda} x^{i}.$$

By (26) and using the Cauchy product of two power series, we get

$$\sum_{n=1}^{\infty} F_{n,\lambda}^{Y}(x) \frac{t^{n}}{n!} = \frac{1}{1 - x(E[e_{\lambda}^{Y}(t)] - 1)} - 1 = \frac{x(E[e_{\lambda}^{Y}(t)] - 1)}{1 - x(E[e_{\lambda}^{Y}(t)] - 1)}$$
$$= \frac{xE[e_{\lambda}^{Y}(t)]}{1 - x(E[e_{\lambda}^{Y}(t)] - 1)} - \frac{x}{1 - x(E[e_{\lambda}^{Y}(t)] - 1)}$$
$$= x\sum_{k=0}^{\infty} E[(Y)_{k,\lambda}] \frac{t^{k}}{k!} \sum_{l=0}^{\infty} F_{l,\lambda}^{Y}(x) \frac{t^{l}}{l!} - x\sum_{n=0}^{\infty} F_{n,\lambda}^{Y}(x) \frac{t^{n}}{n!}.$$
(37)
$$= x\sum_{k=1}^{\infty} E[(Y)_{k,\lambda}] \frac{t^{k}}{k!} \sum_{l=0}^{\infty} F_{l,\lambda}^{Y}(x) \frac{t^{l}}{l!}$$
$$= \sum_{n=1}^{\infty} x\sum_{k=1}^{n} {n \choose k} E[(Y)_{k,\lambda}] F_{n-k,\lambda}^{Y}(x) \frac{t^{n}}{n!}.$$

Therefore, by comparing the coefficients on both sides of (37), we obtain the following theorem.

### **Theorem 7** For $n \ge 1$ , we have

$$F_{n,\lambda}^{Y}(x) = x \sum_{k=1}^{n} \binom{n}{k} E[(Y)_{k,\lambda}] F_{n-k,\lambda}^{Y}(x).$$

Here and elsewhere, all differentiations of power series are done term by term. From (26), we note that

$$\sum_{n=0}^{\infty} F_{n+1,\lambda}^{Y}(x) \frac{t^{n}}{n!} = \frac{d}{dt} \sum_{n=0}^{\infty} F_{n,\lambda}^{Y}(x) \frac{t^{n}}{n!} = \frac{d}{dt} \left( \frac{1}{1 - x(E[e_{\lambda}^{Y}(t)] - 1)} \right)$$

$$= \frac{xE[Ye_{\lambda}^{Y-\lambda}(t)]}{(1 - x(E[e_{\lambda}^{Y}(t)] - 1))^{2}} = \frac{x}{1 - x(E[e_{\lambda}^{Y}(t)] - 1)} \frac{E[Ye_{\lambda}^{Y-\lambda}(t)]}{1 - x(E[e_{\lambda}^{Y}(t)] - 1)}$$

$$= x \sum_{i=0}^{\infty} F_{i,\lambda}^{Y}(x) \frac{t^{i}}{i!} \sum_{j=0}^{\infty} F_{j,\lambda}^{Y}(x) \frac{t^{j}}{j!} \sum_{m=0}^{\infty} E[Y(Y - \lambda)_{m,\lambda}] \frac{t^{m}}{m!}$$

$$= x \sum_{k=0}^{\infty} \left( \sum_{i=0}^{k} \binom{k}{i} F_{i,\lambda}^{Y}(x) F_{k-i,\lambda}^{Y}(x) \right) \frac{t^{k}}{k!} \sum_{m=0}^{\infty} E[(Y)_{m+1,\lambda}] \frac{t^{m}}{m!}$$

$$= \sum_{n=0}^{\infty} x \sum_{k=0}^{n} \sum_{i=0}^{k} \binom{k}{i} \binom{n}{k} F_{i,\lambda}^{Y}(x) F_{k-i,\lambda}^{Y}(x) E[(Y)_{n-k+1,\lambda}] \frac{t^{n}}{n!}.$$
(38)

Therefore, by comparing the coefficients on both sides of (29), we obtain the following theorem.

**Theorem 8** For  $n \ge 0$ , we have

$$F_{n+1,\lambda}^{Y}(x) = x \sum_{k=0}^{n} \sum_{i=0}^{k} \binom{k}{i} \binom{n}{k} F_{i,\lambda}^{Y}(x) F_{k-i,\lambda}^{Y}(x) E[(Y)_{n-k+1,\lambda}]$$

Now, we observe from (35) that

$$\begin{split} &\sum_{n=0}^{\infty} \frac{d^{r}}{dx^{r}} F_{n,\lambda}^{Y}(x) \frac{t^{n}}{n!} = \frac{d^{r}}{dx^{r}} \left( \frac{1}{1 - x(E[e_{\lambda}^{Y}(t)] - 1)} \right) = r! \frac{\left(E[e_{\lambda}^{Y}(t)]\right)^{r}}{\left(1 - x(E[e_{\lambda}^{Y}(t)] - 1)\right)^{r+1}} \\ &= r! \sum_{i=0}^{\infty} F_{i,\lambda}^{(r+1,Y)}(x) \frac{t^{i}}{i!} \sum_{k=0}^{\infty} E\left[ (Y_{1} + Y_{2} + \dots + Y_{r})_{k,\lambda} \right] \frac{t^{k}}{k!} \\ &= \sum_{n=0}^{\infty} \left( r! \sum_{i=0}^{n} F_{i,\lambda}^{(r+1,Y)}(x) E[(S_{r})_{n-i,\lambda}] \binom{n}{i} \right) \frac{t^{n}}{n!}. \end{split}$$
(39)

Therefore, by (39), we obtain the following theorem.

**Theorem 9** For  $r, n \ge 0$ , we have

$$\frac{d^r}{dx^r}F^Y_{n,\lambda}(x) = r! \sum_{i=0}^n F^{(r+1,Y)}_{i,\lambda}(x)E[(S_r)_{n-i,\lambda}]\binom{n}{i}.$$

From (22) and (26), we note that

$$\sum_{n=0}^{\infty} \left(\sum_{i=0}^{\infty} E[(S_i)_{n,\lambda}] x^i\right) \frac{t^n}{n!} = \sum_{i=0}^{\infty} x^i \sum_{n=0}^{\infty} E[(S_i)_{n,\lambda}] \frac{t^n}{n!}$$

$$= \sum_{i=0}^{\infty} x^i E[e_{\lambda}^{S_i}(t)] = \sum_{i=0}^{\infty} x^i \left(E[e_{\lambda}^{Y}(t)]\right)^i$$

$$= \frac{1}{1 - x E[e_{\lambda}^{Y}(t)]} = \frac{1}{1 - x} \frac{1}{1 - \frac{x}{1 - x} (E[e_{\lambda}^{Y}(t)] - 1)}$$

$$= \frac{1}{1 - x} \sum_{n=0}^{\infty} F_{n,\lambda}^{Y} \left(\frac{x}{1 - x}\right) \frac{t^n}{n!}.$$
(40)

Therefore, by comparing the coefficients on both sides of (40), we obtain the following theorem.

**Theorem 10** For  $n \ge 0$ , we have

$$\frac{1}{1-x}F_{n,\lambda}^Y\left(\frac{x}{1-x}\right) = \sum_{i=0}^{\infty} E[(S_i)_{n,\lambda}]x^i.$$

Taking  $x = \frac{1}{2}$ , we get

$$\sum_{i=0}^{\infty} E[(S_i)_{n,\lambda}] \left(\frac{1}{2}\right)^i = 2F_{n,\lambda}^Y, \quad (n \ge 0).$$

Let *Y* be the Poisson random variable with parameter  $\alpha$  (> 0). Then we have

$$E[e_{\lambda}^{Y}(t)] = \sum_{n=0}^{\infty} e_{\lambda}^{n}(t) \frac{\alpha^{n}}{n!} e^{-\alpha} = e^{\alpha(e_{\lambda}(t)-1)}.$$
(41)

From (41), (26) and (9), we have

$$\sum_{n=0}^{\infty} F_{n,\lambda}^{Y}(x) \frac{t^{n}}{n!} = \frac{1}{1 - x(E[e_{\lambda}^{Y}(t)] - 1)} = \frac{1}{1 - x(e^{\alpha(e_{\lambda}(t) - 1)} - 1)}$$
$$= \sum_{i=0}^{\infty} F_{i}(x)\alpha^{i} \frac{1}{i!}(e_{\lambda}(t) - 1)^{i} = \sum_{i=0}^{\infty} F_{i}(x)\alpha^{i} \sum_{n=i}^{\infty} \left\{ \begin{array}{c} n \\ i \end{array} \right\}_{\lambda} \frac{t^{n}}{n!} \quad (42)$$
$$= \sum_{n=0}^{\infty} \left( \sum_{i=0}^{n} F_{i}(x) \left\{ \begin{array}{c} n \\ i \end{array} \right\}_{\lambda} \alpha^{i} \right) \frac{t^{n}}{n!},$$

Description Springer

where  $F_i(x)$  are the Fubini polynomials given by  $\frac{1}{1-x(e^t-1)} = \sum_{i=0}^{\infty} F_i(x) \frac{t^i}{i!}$ . Therefore, by (42), we obtain the following theorem.

**Theorem 11** Let *Y* be the Poisson random variable with parameter  $\alpha(> 0)$ . Then we have

$$F_{n,\lambda}^{Y}(x) = \sum_{i=0}^{n} F_{i}(x) \left\{ \begin{array}{c} n \\ i \end{array} \right\}_{\lambda} \alpha^{i}, \quad (n \ge 0).$$

Let *Y* be the Poisson random variable with parameter  $\alpha > 0$ . Then, by (41) and (10), we have

$$\left(E[e_{\lambda}^{Y}(t)]\right)^{k} = e^{k\alpha(e_{\lambda}(t)-1)} = \sum_{n=0}^{\infty} \phi_{n,\lambda}(k\alpha) \frac{t^{n}}{n!}.$$
(43)

and

$$\left(E[e_{\lambda}^{Y}(t)]\right)^{k} = \sum_{n=0}^{\infty} E[(S_{k})_{n,\lambda}] \frac{t^{n}}{n!}.$$
(44)

Thus, by (43) and (44), we get

$$E\left[(S_k)_{n,\lambda}\right] = \phi_{n,\lambda}(k\alpha), \quad (n \ge 0).$$
(45)

From Theorem 10 and (45), we have

$$\sum_{k=0}^{\infty} \phi_{n,\lambda}(k\alpha) x^k = \sum_{k=0}^{\infty} E\left[ (S_k)_{n,\lambda} \right] x^k = \frac{1}{1-x} F_{n,\lambda}^Y \left( \frac{x}{1-x} \right). \tag{46}$$

Therefore, by (46), we obtain the following theorem.

**Theorem 12** Let Y be the Poisson random variable with parameter  $\alpha(> 0)$ . For  $n \ge 0$ , we have

$$\sum_{k=0}^{\infty} \phi_{n,\lambda}(k\alpha) x^k = \sum_{k=0}^{\infty} E\Big[ (S_k)_{n,\lambda} \Big] x^k = \frac{1}{1-x} F_{n,\lambda}^Y \bigg( \frac{x}{1-x} \bigg).$$

By using Theorem 6 and (22), we note that

$$\left(\frac{1}{1-x}\right)^{r+1} F_{n,\lambda}^{(r+1,Y)}(\frac{x}{1-x}) = \left(\frac{1}{1-x}\right)^{r+1} \sum_{l=0}^{n} \left\{ n \atop l \right\}_{Y,\lambda} \left( \frac{l+r}{l} \right)^{l} \left( \frac{1}{1-x} \right)^{l+r+1} = \sum_{l=0}^{n} \sum_{k=0}^{\infty} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{l} \right)^{k+l} \left( \frac{1}{1-x} \right)^{l+r+1} = \sum_{l=0}^{n} \sum_{k=0}^{\infty} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k} \right)^{k+l} \left( \frac{1}{1-x} \right)^{l+r+1} = \sum_{l=0}^{n} \sum_{k=0}^{\infty} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k} \right)^{k+l} \left( \frac{1+r}{k-l} \right)^{k+r+1} = \sum_{l=0}^{n} \sum_{k=0}^{\infty} \left\{ n \atop k \right\}_{Y,\lambda} l! \left( \frac{l+r}{k} \right)^{k+l} \left( \frac{1+r}{k-l} \right)^{k+r+1} = \sum_{k=0}^{n} \left\{ k+r \atop k \right\}_{I=0}^{k} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k-l} \right)^{k+r+1} = \sum_{k=0}^{n} \left\{ k+r \atop k \right\}_{I=0}^{k} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k-l} \right)^{k+r+1} = \sum_{k=0}^{n} \left\{ k+r \atop k \right\}_{I=0}^{k} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k-l} \right)^{k+r+1} = \sum_{k=0}^{n} \left\{ k+r \atop k \right\}_{I=0}^{k} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k-l} \right)^{k+r+1} = \sum_{k=0}^{n} \left\{ k+r \atop k \right\}_{I=0}^{k} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k-l} \right)^{k+r+1} = \sum_{k=0}^{n} \left\{ k+r \atop k \right\}_{I=0}^{k} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k-l} \right)^{k+r+1} = \sum_{k=0}^{n} \left\{ n \atop k \right\}_{I=0}^{k} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k-l} \right)^{k+r+1} = \sum_{k=0}^{n} \left\{ n \atop k \right\}_{I=0}^{k} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k-l} \right)^{k+r+1} = \sum_{k=0}^{n} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k-l} \right)^{k+r+1} = \sum_{k=0}^{n} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k-l} \right)^{k+r+1} = \sum_{k=0}^{n} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k-l} \right)^{k+r+1} = \sum_{k=0}^{n} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k-l} \right)^{k+r+1} = \sum_{k=0}^{n} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k-l} \right)^{k+r+1} = \sum_{k=0}^{n} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k-l} \right)^{k+r+1} = \sum_{k=0}^{n} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k-l} \right)^{k+r+1} = \sum_{k=0}^{n} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k-l} \right)^{k+r+1} = \sum_{k=0}^{n} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k-l} \right)^{k+r+1} = \sum_{k=0}^{n} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k-l} \right)^{k+r+1} = \sum_{k=0}^{n} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k-l} \right)^{k+r+1} = \sum_{k=0}^{n} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k-l} \right)^{k+r+1} = \sum_{k=0}^{n} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k-l} \right)^{k+r+1} = \sum_{k=0}^{n} \left\{ n \atop l \right\}_{Y,\lambda} l! \left( \frac{l+r}{k-l} \right)^$$

Therefore, by (47), we obtain the following theorem.

**Theorem 13** For  $n \ge 0$ , we have

$$\left(\frac{1}{1-x}\right)^{r+1} F_{n,\lambda}^{(r+1,Y)}\left(\frac{x}{1-x}\right) = \sum_{k=0}^{\infty} \binom{k+r}{k} x^k E\left[(S_k)_{n,\lambda}\right]$$

When Y = 1, we have

$$\left(\frac{1}{1-x}\right)^{r+1} F_{n,\lambda}^{(r+1)}\left(\frac{x}{1-x}\right) = \sum_{k=0}^{\infty} \binom{k+r}{k} x^k (k)_{n,\lambda}.$$

Now, we observe from (24), (16) and Theorem 6 that

$$\int_{0}^{\infty} y^{r-1} \phi_{n,\lambda}^{Y}(xy) e^{-y} dy = \sum_{k=0}^{n} \left\{ \begin{array}{c} n \\ k \end{array} \right\}_{Y,\lambda} x^{k} \int_{0}^{\infty} y^{r+k-1} e^{-y} dy$$
$$= \sum_{k=0}^{n} \left\{ \begin{array}{c} n \\ k \end{array} \right\}_{Y,\lambda} x^{k} \Gamma(r+k) = \Gamma(r) \sum_{k=0}^{n} \left\{ \begin{array}{c} n \\ k \end{array} \right\}_{Y,\lambda} x^{k} \binom{r+k-1}{k} k!$$
$$= \Gamma(r) F_{n,\lambda}^{(r,Y)}(x), \quad (r \in \mathbb{N}).$$
(48)

Therefore, by (48), we obtain the following theorem.

**Theorem 14** For  $n \ge 0$  and  $r \ge 1$ , we have

$$F_{n,\lambda}^{(r,Y)}(x) = \frac{1}{\Gamma(r)} \int_0^\infty y^{r-1} \phi_{n,\lambda}^Y(xy) e^{-y} dy.$$

From (35), (25) and Theorem 14, we have

$$\left(\frac{1}{1-x(E[e_{\lambda}^{Y}(t)]-1)}\right)^{r} = \frac{1}{\Gamma(r)} \int_{0}^{\infty} y^{r-1} \sum_{n=0}^{\infty} \phi_{n,\lambda}^{Y}(xy) \frac{t^{n}}{n!} e^{-y} dy.$$
$$= \frac{1}{\Gamma(r)} \int_{0}^{\infty} y^{r-1} e^{xy(E[e_{\lambda}^{Y}(t)]-1)} e^{-y} dy$$
$$= \frac{1}{\Gamma(r)} \int_{0}^{\infty} y^{r-1} e^{y(xE[e_{\lambda}^{Y}(t)]-1-x)} dy$$
(49)

By (49), we get

$$\frac{1}{\Gamma(r)} \int_0^\infty y^{r-1} e^{y(xE[e_\lambda^Y(t)] - 1 - x)} dy = \left(\frac{1}{1 - x(E[e_\lambda^Y(t)] - 1)}\right)^r,$$

where *r* is a positive integer.

The proof of Theorem 15 is similar to that of Theorem 8. So we omit its proof.

**Theorem 15** For  $n \ge 0$ , we have

$$F_{n+1,\lambda}^{(r,Y)}(x) = rx \sum_{k=0}^{n} \sum_{j=0}^{k} \binom{n}{k} \binom{k}{j} F_{n-k,\lambda}^{(r,Y)}(x) F_{k-j,\lambda}^{Y}(x) E[(Y)_{j+1,\lambda}].$$

Let Y be the Bernoulli random variable with probability of success p. Then we have

$$E[e_{\lambda}^{Y}(t)] = \sum_{k=0}^{1} e_{\lambda}^{k}(t)p(k) = 1 - p + pe_{\lambda}(t) = 1 + p(e_{\lambda}(t) - 1).$$
(50)

By (26), (50) and (13), we get

$$\sum_{n=0}^{\infty} F_{n,\lambda}^{Y}(x) \frac{t^{n}}{n!} = \frac{1}{1 - x(E[e_{\lambda}^{Y}(t)] - 1)} = \frac{1}{1 - xp(e_{\lambda}(t) - 1)}$$

$$= \sum_{n=0}^{\infty} F_{n,\lambda}(xp) \frac{t^{n}}{n!}.$$
(51)

Therefore, by comparing the coefficients on both sides of (51), we obtain the following theorem.

**Theorem 16** Let Y be the Bernoulli random variable with probability of success p. For  $n \ge 0$ , we have

$$F_{n,\lambda}^Y(x) = F_{n,\lambda}(xp).$$

## 3 Conclusion

In this paper, we studied by using generating functions the probabilistic degenerate Fubini polynomials associated with *Y* and the probabilistic degenerate Fubini polynomials of order *r* associated with *Y*, as probabilistic versions of the degenerate Fubini polynomials and the degenerate Fubini polynomials of order *r*, respectively. Here *Y* is a random variable such that the moment generating function of *Y* exists in a neighborhood of the origin. In more detail, we derived several explicit expressions of  $F_{n,\lambda}^{Y}(x)$  (see Theorems 1, 2, 4) and those of  $F_{n,\lambda}^{r,Y}(x)$  (see Theorems 6, 14). We obtained a recurrence relations for  $F_{n,\lambda}^{Y}(x)$  (see Theorem 7), and another one (see Theorem 8) together with its generalization (see Theorem 7). We expressed the *r*th derivative of  $F_{n,\lambda}^{Y}(x)$  in terms of  $F_{i,\lambda}^{(r+1,Y)}(x)$  (see Theorem 9). We showed the identity  $\frac{1}{1-x}F_{n,\lambda}^{Y}(\frac{x}{1-x}) = \sum_{i=0}^{\infty} E[(S_i)_{n,\lambda}]x^i$  (see Theorem 10) and its generalization (see Theorem 13). We deduced an explicit expression for  $F_{n,\lambda}^{Y}(x)$  when  $Y \sim \Gamma(1, 1)$ (see Theorem 3) and also that when *Y* is the Poisson random variable with parameter  $\alpha$  (see Theorem 11). We proved that  $\frac{1}{1-x}F_{n,\lambda}^{Y}(\frac{x}{1-x}) = \sum_{k=0}^{\infty} \phi_{n,\lambda}(k\alpha)x^k$  when *Y* is the Poisson random variable with parameter  $\alpha$  (see Theorem 12). We showed  $F_{n,\lambda}^{Y}(x) = F_{n,\lambda}(xp)$  when *Y* be the Bernoulli random variable with probability of success *p* (see Theorem 16).

As one of our future projects, we would like to continue to study degenerate versions,  $\lambda$ -analogues and probabilistic versions of many special polynomials and numbers and to find their applications to physics, science and engineering as well as to mathematics.

**Acknowledgements** The authors would like to thank the reviewer for his detailed comments and suggestions that helped improve the original manuscript in its present form.

Author Contributions All authors contributed equally in the preparation of this manuscript.

**Funding** Tis research was funded by the National Natural Science Foundation of China (No.12271320) and Key Research and Development Program of Shaanxi (No. 2023 ZDLGY-02).

Availability of data and materials There is no data used in this article.

#### Declarations

**Ethics approval and consent to participate** The submitted article is an original research paper and has not been published anywhere else.

Consent for publication All authors consent for publication.

Conflict of interest The authors declare no Conflict of interest.

**Open Access** This article is licensed under a Creative Commons Attribution 4.0 International License, which permits use, sharing, adaptation, distribution and reproduction in any medium or format, as long as you give appropriate credit to the original author(s) and the source, provide a link to the Creative

Commons licence, and indicate if changes were made. The images or other third party material in this article are included in the article's Creative Commons licence, unless indicated otherwise in a credit line to the material. If material is not included in the article's Creative Commons licence and your intended use is not permitted by statutory regulation or exceeds the permitted use, you will need to obtain permission directly from the copyright holder. To view a copy of this licence, visit http://creativecommons.org/ licenses/by/4.0/.

### References

- Abbas, M., Bouroubi, S.: On new identities for Bell's polynomials. Discr. Math. 293(1-3), 5–10 (2005)
- Abramowitz, M., Stegun, I. A.: Handbook of mathematical functions with formulas, graphs, and mathematical tables. For sale by the Superintendent of Documents, National Bureau of Standards Applied Mathematics Series, No. 55. U. S. Government Printing Office, Washington, DC. xiv+1046 pp (1964)
- Adams, C.R., Morse, A.P.: Random sampling in the evaluation of a Lebesgue integral. Bull. Am. Math. Soc. 45(6), 442–447 (1939)
- 4. Adell, J.A., Bényi, B., Nkonkobe, S.: On higher order generalized geometric polynomials with shifted parameters. Quaest. Math. 46(3), 551–567 (2023)
- 5. Comtet, L.: *Advanced combinatorics. The art of finite and infinite expansions.* Revised and enlarged edition. D. Reidel Publishing Co., Dordrecht. xi+343 pp. ISBN: 90-277-0441-4 (1974)
- Jang, G.-W., Kim, T.: Some identities of central Fubini polynomials arising from nonlinear differential equation. Proc. Jangjeon Math. Soc. 22(2), 205–213 (2019)
- Kilar, N., Simsek, Y.: Identities and relations for Fubini type numbers and polynomials via generating functions and *p*-adic integral approach. Publ. Inst. Math. (Beograd) (N.S.) **106**(120), 113–123 (2019)
- Kim, D.S., Jang, G.-W., Kwon, H.-I., Kim, T.: Two variable higher-order degenerate Fubini polynomials. Proc. Jangjeon Math. Soc. 21(1), 5–22 (2018)
- Kim, D.S., Kim, T., Kwon, H.-I., Park, J.-W.: Two variable higher-order Fubini polynomials. J. Korean Math. Soc. 55(4), 975–986 (2018)
- 10. Kim, D.S., Kwon, J., Dolgy, D.V., Kim, T.: On central Fubini polynomials associated with central factorial numbers of the second kind. Proc. Jangjeon Math. Soc. **21**(4), 589–598 (2018)
- Kim, T., Kim, D.S.: Some results on degenerate Fubini and degenerate Bell polynomials. Appl. Anal. Discr. Math. 17(2), 548–560 (2023)
- 12. Kim, T., Kim, D.S.: Combinatorial identities involving degenerate harmonic and hyperharmonic numbers. Adv. Appl. Math. **148**, 102535 (2023)
- Kim, T., Kim, D.S.: Degenerate zero-truncated Poisson random variables. Russ. J. Math. Phys. 28(1), 66–72 (2021)
- 14. Kim, T., Kim, D.S.: Some identities on truncated polynomials associated with degenerate Bell polynomials. Russ. J. Math. Phys. **28**(3), 342–355 (2021)
- 15. Kim, T., Kim, D.S.: Probabilistic degenerate Bell polynomials associated with random variables. Russ. J. Math. Phys. **30**(4), 528–542 (2023)
- Kim, T., Kim, D.S., Jang, G.-W.: A note on degenerate Fubini polynomials. Proc. Jangjeon Math. Soc. 20(4), 521–531 (2017)
- 17. Kim, T., Kim, D. S., Jang, G.-W., Kim, D.: *Two variable higher-order central Fubini polynomials*, J. Inequal. Appl. 146 (2019)
- Kim, T., Kim, D.S., Kim, H.K., Lee, H.: Some properties on degenerate Fubini polynomials. Appl. Math. Sci. Eng. 30(1), 235–248 (2022)
- 19. Kim, T., Kim, D.S., Kwon, J.: Some identities related to degenerate *r*-Bell and degenerate Fubini polynomials. Appl. Math. Sci. Eng. **31**(1), 2205642 (2023)
- Kim, T., Kim, D. S., Kwon, J.: Probabilistic degenerate Stirling polynomials of the second kind and their applications, Math. Comput. Model. Dyn. Syst. (in press). https://doi.org/10.1080/13873954. 2023.229757

- 21. Kim, T., Kim, D.S., Lee, H., Kwon, J.: On degenerate generalized Fubini polynomials. AIMS Math. 7(7), 12227–12240 (2022)
- 22. Kim, T., Kim, D.S.: Probabilistic Bernoulli and Euler polynomials. Russ. J. Math. Phys. 31(1), 94–105 (2024)
- 23. Kurt, B.: A parametric unified Apostol-type Bernoulli, Euler, Genocchi, Fubini polynomials and numbers. Filomat **37**(19), 6307–6317 (2023)
- 24. Muhyi, A., Araci, S.: A note onq-Fubini-Appell polynomials and related properties, J. Funct. Spaces, Art. ID 3805809 (2021)
- Roman, S.: *The umbral calculus*, Pure and Applied Mathematics 111, Academic Press, Inc. [Harcourt Brace Jovanovich, Publishers], New York, (1984)
- 26. Ross, S.M.: Introduction to Probability Models, p. 1. Twelfth Edition of Academic Press, London (2019)
- Soni, R., Pathak, A. K., Vellaisamy, P.: A probabilistic extension of the Fubini polynomials, arXiv: 2312.15193 [math.PR]
- Withers, C.S.: A simple expression for the multivariate Hermite polynomials. Statist. Probab. Lett. 47(2), 165–169 (2000)